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A: How much is this dress?

Answer: ___________________

B: ________ $20.

Answer: ___________________

A: And how much is that shirt?

Answer: ___________________

B: ________ $15.

Answer: ___________________

A: How much are these shoes?

Answer: ___________________

B: ________ $30.

Answer: ___________________

A: And how much are those pants?

Answer: ___________________

B: ________ $25.

Answer: ___________________

A: Which is cheaper, the dress or the shirt?

Answer: ___________________

B: ________ the shirt.

Answer: ___________________

A: Which are more expensive, the shoes or the pants?

Answer: ___________________

B: ________ the shoes.

Answer: ___________________



Answers

A: How much is this dress?

Answer: It's

B: ________ $20.

Answer: It's

A: And how much is that shirt?

Answer: They're

B: ________ $15.

Answer: They're

A: How much are these shoes?

Answer: It's

B: ________ $30.

Answer: It's

A: And how much are those pants?

Answer: The shirt is cheaper than

B: ________ $25.

Answer: The shoes are more expensive than


